HiA R

BWKEREGRITEL 2— (GHETEH)

2015428208
EES
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_ m/s _ m/s _ m/s MJ MJ hPa % % %
1:00[F& L7 42|FdL A 8.8|Fait A 0 0 0 0 0 56.3
2:00[ 7L 4.1|AdL A 8.3[Fadt 0 0 0 0 0 1024.9 56.2
3:00|Fa4LFE 46[FEtL P 9|FadLEE 0 0 0 0 0 1025.1 56.1
4:00[ 7L 4.3|FdL A 9 0 0 0 0 0 1025.1 56
5:00[ k7 4.3|AdL A 8.4 0 0 0 0 0 1025.3 55.9
6:00[ 7L 3.5[dL 7 8 0 0 0 0 0 1025.9 55.7
7:00|FadL 7R 3.8[FItA 7 0 0 0 0 0 1026.5 55.6
8:.00[ AL 3.7|3L 7 0 0 0 0 0.19 1026.9 55.5
9:00[Jt7 3.6|FEILFE 8 0 0 0 0 05 1027.4 55.3
10:00[ 7L 4.1|FdLE 9 0 0 0 0 0.82 1027.6 55.1
11:00[FL L7 3.7[dedtFE 7.9 0 0 0.2 0.2 1.21 1027.3 54.9
12:00[JLJEFE 33[dLitF 9.4 0 0 0.9 1.2 2.78 1026.5 54.6
13:00[dk NE 8.4 0 0 1 22 2.75 1025.8 54.3
14:00[dkIE 7 36[dt 8 0 0 1 32 25 1025.5 54
15:00[dt 32[dtitFE 73 0 0 1 42 2.03 1025.6 53.7
16:00[JtILE NEEE 8.1 0 0 1 5.2 1.38 1026.1 53.4
17:00[dtJEE REEE 7 0 0 1 6.2 0.63 1026.5 53.1
18:00[dLILT|E 15[dbILE 6.1 0 0 0 6.2 0.04 1027.1 529
19:00| A 7R 0.4[JtdtE 3.2 0 0 0 6.2 0 1027.7 529
20:00 | #E /A, 0|FE 1 0 0 0 6.2 0 1027.7 53.1
21:00[/ 0.3|F 1.3 0 0 0 6.2 0 1028.2 53.3
22:00 | #EJA, o[F&itLFE 1.9 0 0 0 6.2 0 1028.4 53.6
23.00|FI P 0.4|FEfEA 1.3 0 0 0 6.2 0 1028.1 53.9
24:00:00[JtJEFE 0.3|FEE 1.6 0 0 0 6.2 0 1028.3 54.2
B
SEHEA | T RGR | sormmesmn | SARMRE| SATHHEAN e |BEAE| BE |BEAs HhSKE ERE
m/s m/s MJ MJ hPa %
Eiy 3 1026.6 54.6
e [ i) 5.4[JtdcFa 9.4[4t 1028.4 56.4
HCHF 12:09 11:12 : 0:01
FIE 1024.8 527
HEEF : 18:26
BE 6.1 6.2 14.83
ELRSEEE (%)
[JedesE [ b [ EkE | = [ &Zmm | me | dedtem [ it B XA
AREEES1—)] 13.5] 1.3] 0.2] 0.4] 0.5] 12.3] 9.2] 10.1] 0]




